-y) -2}
--2)} - {(x-y
{x(x(—yij)—(x—y—Z)
ix—y+z—x—i—y—i—z
=27

in




2. A =2245xy-32B = 42 -5xy+y%,C = —x2 + 424 0,

2A-{B-(2C-3A)}

@ 8x% + 30xy — 24y? @ 8x2 —30xy — 24y?

® -8x2 + 30xy — 24y? @—8x2 + 10y?

® —8x% — 10y?

24-{B-(2C-3A)} =2A-B+2C-3A
=-A-B+2C

= —8x? + 10y?




2x3 +4x2 -7, B= x>+ x-29°] "5}o] A - 2BE

@2x3+2x2—2x—3 @ 2x* +2x2+2x-3

@ 2x3+2x2+2x+3 @ 2x® +6x2-2x+3

® 2x3 +6x2-2x-3

B

A-2B 2 SR ol Aelgit.

A-2B=(23+4x>-7)-2(x2 +x-2)
=23 +4x®2 -7 -2x> - 2x + 4
=2x34+ (4-2)x>-2x-7+4
=2x3 +2x2-2x-3




(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac

—_—~ o~

©)
@
@ (x+2)(x*-2x+4)=x3+38

@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
= xd b x2y? 4y
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2 (a+b+c)? =a%+b%+ 2+ 2ab + 2bc + 2ca = HOol+&=
o}

o)
ox mlo
o

b+ c)?

p:+c}2

|:|‘ +2(a+b)><|:|+c2
:a2—i-|:|-|-b2-|-2ca+2bc—i—c2
=a® 4+ b% + 2 + 2ab + 2bc + 2ca
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=1+

£
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=
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rlo
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i
<
I

(a+b)

0
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(a+D)
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i
)

v vV Vv vvyvYyvyy
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i
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6. (x-2y-3z)%& Asto] xofl g ygA Loz Helshi?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°




T, (P-322+3r+4) (2 +2x-5) S ANG AoNA] 22 O ASE Fohw?

® 10 @ 15 ® 19 @ 21 @25

S5 1
AN A x2 32
i) (o1 x (AFAF) ol A 15x2 + 4x2 = 1952
i) (EAFH)x(LAFE) oA 6x2
L2 AFE19+6=25




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2x2 — Tx + 8) = ZHATHTE Aof|A] x3
o AlE?

O 31 @ 33 ® 35 @ 37 @39

2x3 x 8 = 3x2 x (=7x) + 3x x (—=2x2) + 4 x 2x3 = 39x°




SRR (522 + 3x + 1)2 & AASHAL W, 22 9] AL

® 10 @ 13 ® 16 @)19

® 25

B

(5x% + 3x 4 1)(5x2 + 3x + 1) | A

1) (A% (L2 9] 3¢ 9x2

i) (1) x () o % 2 x 5x?
=, 5x2 + 5x% 4 9x% = 19x?

19




10. oA x2y(x® + y?) = A7Nstoet




2 3

11 5942 (v 1) (1424 2 ) o e
X X X

©2% @31 @x @7a

® 8t

B

o (s+1) (1424.3)
X X X

=x2(x>+1)(x2 +2x+3)
s 62 A




@ —xy° ® 12y

(@)—x5y4

@ xy°

@) —x4y5

xy(-xy)? = 22y (-xy%) = —x°y*




® +3vV5




14. a+b=4a>+1*>=10%4 o, a® + b° °] Ft= Fotoieh.

> &

> e 244

B

a+b=4,a’>+b>=10
1
ab = S{(a+Db)* = (a® +b%) =3
a® +b® = (a+b)? - 3ab(a + b) = 28
@+ b = (@ +b3)(a® +b?) - a’b*(a+b)
=28x10-9x4
= 244







